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QUESTION 1

A company plans to invest $315,000 to cover hardware, software, and deployment expenses. They expect to save
$35,000 per month. They are using a decommissioning cost of $35,000 for the old equipment. After how many months
will the company reach the break-even point?

A7

B. 8

C.9

D. 10

Correct Answer: B

QUESTION 2

You are creating a cloud infrastructure design for an organization. You learn that, for compliance reasons, the
organization needs to maintain a separate set of infrastructures for certain deployed services. Which part of the design
will be impacted by this requirement?

A. Number of compute pools

B. Number of service catalogs

C. Over-commitment ratio

D. Service catalog sizing

Correct Answer: B

QUESTION 3

What determines the maximum number of blade or rack servers that can be installed in a ClI system?
A. Unified management storage array configuration

B. Open-sources management switch configuration

C. Unified management switch configuration

D. Open-sourced management storage array configuration

Correct Answer: A

QUESTION 4

When designing for large addressing space in HCI nodes, what operations(s) negatively impacts cost of performance?
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A. First write

B. Page-in and page-out
C. Random write

D. Sequential read

Correct Answer: C

QUESTION 5
DRAG DROP

A cloud architect is delivering a knowledge transfer on how to script a service in the Service Catalog that restores a VM.
What is the correct order of steps that should be demonstrated?

Select and Place:

Signal the Backup Server to restore the VM

STEP 1
Select an existing backup of the VM to restore STEP 2
Power on the restored Vivi STEP 3
Delete the VM using the hypervisor STEP 4
Shut down the VM using the hypervisor STEPS

Correct Answer:
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